B | KmE7

2 iR | ARE |

31 0.15'3
PPtk : DW-18.4 56. 4 _ 8[ } =
[ 1T | °":|— o
C~— - SR
_________________ « 2 pall 62
© >
AT
50 '
4 DM J[J'_'l |
11 DW+7 L9 i
9 Feg}tik  DW+45.2 |.lo |
S5 7FA0 : DW+63.2 | |
§ DW+45
I S 1 23
= N e 8 nﬂﬂl%g '
2F N\ I &+ |
BN \\ {r\\é |
N g a
oo \ = =)
N 3
DE: I sona -
I {%ji \\\
24 iR | AME | 1 5 .
R7A—h— Simpson & 54 Rl R g EE
N EE |LJ ks
H 1 RIEFR 30 28 26 85 at
aj
DW 914 | 813 762 i {% / 1ahls
Beohti 959 | 858 | 807 E 5,, ataddy i 16 || 65.9
S 7@0 977 | 876 | 825 L 7 & e N ;l
DW+7
HOWDY ZPBS R7#hE Y & 20200201
[ 7R FSHLBHEE |
B2 | AmE7 | o4 miln | mmE/ET XEBMT
ERDOIS v aRILFRIFNT .
31 -~
A
PPtk - DIX2+0.4 56.4 g[ } R
f i jid
e Y —) qF _ =_ :l
=4 '
w ] L_L
+ gl
o o . M T _ i
= <rl {\J v o I ; <rl i
i |§
50 [
L. B DI BT B KON (F)) I e ] e B
19.1] TR = : DW+3 (7B E KDW(F) +3) N Dii+7 L9 .
9 #eotstik - DWX2+63. 2 (37 7B & : DW+KDW (F) +63. 2) _|_19 | i
S 7BA0 : DWX2+81. 2 GHFBA = -DW-KDI (F) +81.2) | o
NEEMT | i
J:ﬁ{tﬂ)?ﬁ‘y‘/la‘()l»‘l»EHNI DWX2+63. 2 i i
§ - DWX2+25 - I § a
5 o) o %’ = | i t?
g g 3 = i 1 Es
P
J Y NN | |
2 HigER | mEE | IER| e SN s i |
K7 4 —H— Simpson SIN i T - A7 i
+ o XIEHR 30 28 26 | 30+10 . dr |
DW 1828 | 1626 | 1524 | 1219 §1
o 1892 | 1690 | 1588 | 1283 1 R [ 1] -
Z = ERIE | O 3t
S7mMA 1910 | 1708 | 1606 | 1301 B ] ] AT N.m 22
XEBMT ! =

HOWDY %:Bf F7#E Y

RELVILODT Ty aRLbZFMT

20200201




